
  

 
 

 

 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

QUESTION 1 

Which of these number sentences is correct?  

a) 6+3=9 

b) 3+2=32 

c) 4+5=7 

 

QUESTION 2 

______ + 7=20 

a) 6 

b) 14 

c) 13 

 

QUESTION 3 

True or false: In an addition sum, both sides of the equal sign have the same value.  

a) True 

b) False 

 

QUESTION 4  

Which of these calculation is NOT correct?  

a) 9+6=15 

b) 6+8=12 

c) 11+7=18 

 

QUESTION 5 

What is 100+80+2?  

a) 10082 

b) 182 

c) 1082 
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